HOYY «bputaHckaa mexayHapogHas LwKona»

IlpumeHnenue
TPUTOHOMETPHUUYECKHUX
(bopMmy.J1 NI pelieHus

YPABHECHUH

Yacre 1

[lecTtoBa HO.B.



PemiuMm ypaBHeHME:

sin2x —cosx =0 [ , —— ]

2sinxcosx —cosx =0

cosX (2sinx—-1)=0
-cosx =0,

_sinx = 4;...

Hangute x



Pemium ypaBHeHue:

cos7x +cosx=0

2cosdxcos3x =0

-cosd4x =0,

- cos3x = 0;...

Hangure x



PemiuMm ypaBHeHME:

sinx + sinbx =0

2sin3xcos2x =0

-sin3dx = 0,

" cos2x =0;...

Hangute X



PemiuMm ypaBHeHME:

SIiN4dXCco0s2X — cos4Xxsin2Xx = 2—

> sin(a-B)'—LsinacosB cosasinf <

Hangure x SiN2X = 2

Pemium ypaBHeHuUe:

V3

COSXCOS3X — sin3xsinx = - >

> cos(a+f3) ~= cosacosf -|sinasinf <

V3

cos4x = - 2 Hamaurte x




PemiuMm ypaBHeHME:

sin?3x + cox?3x + sin3x = 2
sin’x + cos?x = 1

1+ sin3x =2

Peumium ypaBHeHue:

1

sin3x = 1 cos2x

4

. N =
1+tg°x = — tg'x=4

Hangure x

tgx = 12

Hangure x



PemiuMm ypaBHeHME:

V2

— 2 T e —
1— 2Cc0S“2X >

'cos2a = 2cos?a — 1|

V2

— COS2X = P —

V2
2

Hangute x

COS2X =




PemiuMm ypaBHeHME:

2sin’x =1/3

1 — cos2a

1-cos2x =1/3 i‘f_
cos2x = 2/3 '

Hangure x



